AB.Q402.CH7.LESSON 2 HOMEWORK

1. Let R be the shaded region enclosed by the graphs of y = Jx, y =2, and the y-axis as shown
in the figure above.

a. Find the area of region R. LESSON [ ﬂ = %_

b. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the x-axis.

;
V= ;[(2)'1 %) ] dx

¢. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line y = 3.

V= 'TTi [(3~ﬁ)1—(3‘—z_)1]¢b,(

d. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line y =-1.

V= ’rrf[(u N — (Jx +-:)1J0L/x.

0
e. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the y — axis. T

i , o
Y= T f [(‘3")"-(0)1 Jté, (Op‘) V= ;17{ * Dhﬂj J”‘ Oy
0

f. Setup, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line x = 5.

N= 1 f[.(s—o)l— ( G*-'aly] Jua (or&) \/‘JJZ?( (S—x)[ I

o
g. Setup, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line x = -2.
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2. Let R be the shaded region enclosed by the graphs of x = y*, x = ¥*, and the x-axis as shown
in the figure above.

a. Find the area of region R. . LESSON 1

b. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the x-axis.

l Y
—_ s N
= T SKX 3)-. 6("’) J DL
2 _
¢. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line y = 8.

| N ,
V= tl{[(S-J?)—(%-{)?) ]gl,x

d. Setup, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R 1s revolved around the line y = -2,

V = 'rrf [(U%+0Y = (5% 2] dx

e. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the y — axis. ¢

* L |
v TESIKS")L— (4]0 (or )|V = S L7 - B

f. Set up, but d6 %ot solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line x = 4.

l 2 N !
Ve T L - =g ) ey a v fineeafina]dy b

g. Set up, but do not solve and expression involving one or more integrals; Use to find the
volume of the solid if R is revolved around the line x = -3.

[ {
\[ S SE(LO r 3)7‘__(33+ 3)70{\3 (on) V:EZTL(XH)[W-\JT‘]J/;(BC
O
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3. Let R be the shaded region enclosed by the graphs of y = x>, x+ y = 2, and the x-axis as

shown in the figure above.
fs

b

b. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the x-axis.
1

J_ 1-%

a. Find the area of region R. . LESSON {

1 - 2 :
V= S da + (e by (”0\/"5""”%[@'“3)“@])3

c. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line y = 2.

o oo~ (2- %)]A‘4Tf[(2”°) ~(2-) ] de

d. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line y = -7.

144 (B¢ }mly>

f2m yH[(2-yy-T5

]

L—9Coﬂ_) vV

V= T f‘[(')c +7) f(o_r—,);l 0L: -j»T"f[(l’XJr 7) -'(o+7)JJ4

e. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the y - axis,

0> 2 2
Y= 7 fro[@"‘ﬂ-)“(ﬁa)]o}%

f. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line x = 5.

N= v ST wy = (s- )],

g. Set up, but do not solve and expression involving one or more integrals, use to find the
volume of the solid if R is revolved around the line x = -10.

!
\(= Tfff(l—*é + ]O)L—— ( \)% + ;o)L] J%

‘ﬁ]cltj (oﬂ-)

(‘3 %‘\)[tl-b)
C only )

i

N
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CALCULTOR PERMITTED

4, Let R be the shaded region enclosed by the graphs of x =2y* =2y andx =12y* —123° as
shown in the figure above. Find the volume of the solid if R is revolved around the line x = -2.

0 '
\ = TE‘S;@[ (2y Ly +1) - (lza ',/1.03 + L)JJD+T§[(110‘-1203+L) -('zal-lan)_]cf

T [a o
1 o

\ [\ / AT oy

\7 -‘ \,2/ |
=1

-2

-3

CALCULTOR REQUIRED

5. Let R be the shaded region enclosed by the graphs of f(x)=2cos(1.5x) and
g{(x} =In(x + 1) as shown in the figure above.

A. Find the area of region R.

3055 ¢,9%50
= S\ (F3—¥(K)0Lc t Yo -9 :
L i
B. Find the volume of the solid if R is revolved around the line y = .
355 i, 550
2 2
\( = ’ITS [@T—— £0y) - (- 3(x)}JJ7( +‘TE_S\ETT-5(\<))1f CTT»F(K)))']JY
0.34] 2,135

- loq.991  + Lesl = [I11.44%



NO CALCULTOR

‘9+ S':QX/Z

ln (4+5)7 3

A. Write, but do not evaluate, an expression involving one or more integrals used to find area of
region R.

3,754

A= 5 [zlh(u“s) ~ (4" —63] JJ

-2.%0%

B. Write, but do not evaluate, an expression involving one or more integrals used to find volume
of the solid generated by revolving R about x =10.

3,754

| oot 14

—2.367



